T

$=1/25,000

< Z ORI, [E L HBPER OGBS T, R REIT O E

[X125000 (Hu[X|Ei{%) ZERLT-b D THD, UKiBE 5 F23HH,

#5166%)

BRRZDIEE |THR

X B & #2122

5
X B % [T#He6
G-

TR T A AT T Y 55k T 3 X

ITHXEERRE

TERICKYEEYIZE
AT BLBEENZ AN
2 e

TEROS SOKN/m’% 185 B

THKRE [animeR

N THERIZEKY 1z
HRIE R |AdRE mt%lﬁ.sé%%?ﬁg
X i 50KN/m’ L F (D igk

TEROBEL ImLUT O X

TERICEYEBEMIERTHEBESH
BNDRKESDHEK (KN/m2)

35.6

BRROAMERATHHEOLERDEE (M)

1.1

=

W
Rl

7/

B E S AR ERAR AT L AR

5

/n

L

(]

50

100m

S=1/2, 500

AR KT




